

Nombre: \_\_\_\_\_

Curso: \_\_\_\_\_

$$\frac{10}{11} - \frac{6}{11} =$$

$$\frac{18}{63} - \frac{10}{63} =$$

$$\frac{22}{23} - \frac{20}{23} =$$

$$\frac{36}{99} - \frac{3}{99} =$$

$$\frac{19}{23} - \frac{19}{23} =$$

$$\frac{12}{67} - \frac{2}{67} =$$

$$\frac{45}{47} - \frac{43}{47} =$$

$$\frac{5}{10} - \frac{2}{10} =$$

¿Te ha parecido muy fácil?



Nombre: \_\_\_\_\_

Curso: \_\_\_\_\_

$$\frac{10}{11} - \frac{6}{11} = \frac{4}{11}$$

$$\frac{18}{63} - \frac{10}{63} = \frac{8}{63}$$

$$\frac{22}{23} - \frac{20}{23} = \frac{2}{23}$$

$$\frac{36}{99} - \frac{3}{99} = \frac{33}{99}$$

$$\frac{19}{23} - \frac{19}{23} = 0$$

$$\frac{12}{67} - \frac{2}{67} = \frac{10}{67}$$

$$\frac{45}{47} - \frac{43}{47} = \frac{2}{47}$$

$$\frac{5}{10} - \frac{2}{10} = \frac{3}{10}$$

¿Te ha parecido muy fácil?

